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PRIN&E

”(7’ lympiad

PRINCE OLYMPIAD EXAMINATION

B 2pcr N

Instructions regarding filling of OMR Sheet are
mentioned on the OMR Sheet only.

The duration of the examis 12 Hours.
The Question Booklet consists of 100 Questions,

each with 4 Marks. The maximum Marks are
400.

Subject-wise division of 100 Questions are as
follows: Maths-35, Science-35, S.St.-10,
English-10, MAT-10.

Candidates will be awarded 4 Marks for the
indicated correct response to each question.

One mark will be deducted for the incorrect
response to each question.

Space for rough work is also provided in the
Question Booklet.
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In the following figure of triangle ABC, E is the midpoint | 01. afe st ABC # E AIEIdT AD &1 #e fa=g g al

01.
of Median AD. The ratio of areas of triangle ABC & | /ST ABC 9 BED & &15t%hell &1 37J4Td 81T |
BED is : A : A
|
|
|
B D Cc | B D Cc
(1) 1:4 ) 3:4 | (1)1:4 ()34
(3) 4:1 (d) 4:3 I (3)4:1 (d)4:3
02. For some integer n, the odd integer is represented in the I 02. YUlih HRIT n & folU fqo FEARIT BT WY BT |
form of: |
(1) n Q) ntl | (1) n Q) n+1
(3) 2n+1 4) 2n | (3) 2n+1 (4) 2n
03. Which of the following is not an irrational? I 03. STH I I AT YRHAT T8] 87
(1) 3+4/7) 2) (3-4J7) | (1) 3+4/7) 2) (3-4J7)
() G+J71)G-J7)  B37 : B G+J1)G-JT)  #3(7
Space for Rough Work
PCP,siar  Closs:xas | IIT-JEE | NEET | OLYMPIADS 1
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04.

05.

06.

07.

08.

09.

PRINCE OLYMPIAD EXAMINATION I 9 PCP ||

The addition of a rational number and an irrational l 04. IfT v uRTY TRT g JURTT WRAT BT Sl WV T

number is equal to:

(1) rational number (2) Irrational number
(3) Both (4) None of the above
The multiplication of two irrational numbers is:
(1) irrational number

(2) rational number

(3) May be rational or irrational

(4) None

The zeroes of x>-2x-8 are:

(1) (2.-4) (2) (4.-2)
(3)(-2,-2) () (-4.-4)

What is the quadratic polynomial whose sum and the

1
product of zeroes is f .3 respectively?

(1) 3x2-3 2 x+1
(2) 3x*+3 [ x+1

(c) 3x*+3 /2 x-1
(d) None of the above

32y — 3%y — /27 then what will be the value of

3¥7
1

D a7 @ 3
1

SN @ 3

If HCF and LCM of two numbers are
(n—l) & (nz—l)(n2 —4) then the product of two

number will be -

(1) n°—n'-5n°-5n*’-4n + 4
(2) ’+n*+ 50— 5n’-4n+4
(3) °—n*-5n*+ 5n®+4n -4
4) n°-n'+5n*-5n°+4n+4

CRASE S|
(1) gRwg (2) 3maR¥y
(3) Tt (4) T 9 P 7ET |
05. T 3MUNTT HEIRAT BT [OHA BRI |
(1) ¥y <=
(2) 9RFT =
(3) TIE WY AT URHY
(4) BIS el
06. 98US x> _ 2y _8 D YAIH BN |
(D) (2.4 (2)(4.-2)
(3)(-2,-2) 4) (-4.-4)

07. I8 fg9Td 9gUe dH & [ RGN BT AN I

1
TOHEEA fo 3 =
(1) 3x>-3 /2 x+1
(2) 3x*+3 [ x+1

(c) 3x*+3 /2 x-1
(d) 379 & B TE
08. IfY 32+v —3¥» — 27 Bl 35 &AM BN

1

0 77 @ 3
1

6 5 @ 3

09. IfT <1 w=mwM &1 HCF iR LCM
(n—l)&(nz—l)(n2—4) g dl T Ol @l
OB BRI

(1) n°—n'-5n°-5n*’-4n + 4
(2) ’+n*+ 50— 5n’-4n+4
(3) - n*-35n*+ 5n’+4n -4
4) n°-n'+5n*-5n°+4n+4

Space for Rough Work

PCP’ Sikar Class : X/Q-6 I
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0. (58)" @1 Fr=feRad & & dwr 3@B7S ofp TE Bl

10. (58)” can end with all of the following except -

Hebell 8—
(1) 4 (26 (1) 4 (2) 6
(3)3 (4)2 (33 (4) 2
11. The unit digit of the number 11, 13493438483, 1 8093 T BT SHTS 3dH
12 +22 435 447 4 +89% is - &
(Do (2) 4 (Do (2) 4
(3)5 (4)6 (3)5 (4)6

12. Consider the quadratic polynomial p(x) =ax" +x+c¢ 1
12. fgard qgue p(x)=ax’ +x+c & fog ac>- T d

1
such that ac¢ > 1 & its graph completely lies below x-

| 1
I
I
I
I
I
I
I
I
I
I
I
I
| T x-3feT B A1l Pl 3R §Ia1 & dl —
axis, then |
(1) a<0,c>0 | () a<0c>0
2) a<0,c<0 I 2) a<0,c<0
3)a>0,c>0 | 3)a>0,c>0
4 a>0,c<0 | 4 a>0,c<0
13. Equation of (x+1)?-x?>=0 has number of real roots equal | 13, =T (r+1)2x*=0 B IRATAP B e BFI?
to: :
(H1 2)2 | (H1 2)2
(3)3 44 | (3)3 44
14. The roots of 100x> - 20x + 1 = 0 is: | 14. TNEROT 100x2 - 20x + 1 =0 & HoA BAI?
lLdL 2idi : 1—aﬁ-\1— 2—aﬁ-\1—
1 1 | | |
(3) — and 0 (4) None of the above | (3) — Sﬁ? — (4) SIRRH § | By T8
I
15. The sum of two numbers is 27 and product is 182. The | 15. afe HT QT@’JTSﬁ BT IR 27 & G STbT UG 182 B |
numbers are: | Gy AT |
(1) 12 and 13 2) 13 and 14 | (1) 12 3R 13 ) 13 3R 14
(3) 12 and 15 (4) 13 and 24 I (3) 12 3R 15 (4) 13 3iR 24
16. a* = b,b” = ¢ and ¢ = g then value of xyz is | 16. I a* =b,b" =¢ T 7 = o I xyz P A BN |
(0 1 @) 0 | a1 ) 0
3) -1 (4) a+b+c | 3) -1 (4) atb+c

I
Space for Rough Work
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17.

18.

19.

20

21.

22.

PRINCE OLYMPIAD EXAMINATION

B 2pcr N

The altitude of a right triangle is 7 cm less than its base.
If the hypotenuse is 13 cm, the other two sides of the
triangle are equal to:

(1) Base =10cm and Altitude = 5cm

(2) Base = 12cm and Altitude = 5cm

(3) Base = 14cm and Altitude = 10cm

(4) Base = 12cm and Altitude = 10cm

If a&p
(x—p)(x—q)—r , then p & q would be zeroes of
polynomial

(1) (x—a)(x—,b’)—r ) (x—a)(x—,b’)+r
3) (x+a)(x+,6’)+r 4 (x+a)(x+,6’)—r

Ifk is the ratio of the zeroes of equation y? — gy +p =0,

are the zeroes of polynomial

E+1
then value of 1S
| a*-2b 2 i
(b p ( 5
; a’+2b " —a’
3) p ( 5

. The point in plane of a triangle which is at equal

perpandicular distance from the sides of the triangle is
(1) Centriod (2) Incentre
(3) Circumcentre (4) Orthocentre

If \/x+1++/x—1=2 then value of x is

1 3
(b 1 2 1

5
® 7 @1
The diagonals of a thombus are 16 cm and 12 ¢cm, in
length. The side of the rhombus in length is:

17.

18.

19.

20.

21.

22.

Udh RS & Sifierd UG R W 7 AW A g T
3RSt &1 &0t 13 Wl & a1 o] BR |

(1) MR = 10 THY 3R e = 5 FHI

(2) MR = 12941 3R Hag = 594!

(3) MR = 14 AT 3R s = 10 A

(4) MR = 12 FHI 3R Harg = 10 T

I o T B IR (x—p)(x—q)-r & gH T
p dq fbd ague & gD B |

(1) (x—a)(x—,b’)—r ) (x—a)(x—,b’)+r

3) (x+a)(x+,6’)+r 4 (x+a)(x+,6’)—r
ARG kTR 2 _ e+ p = 0 @ AT BT AT &

?ﬁkkﬂ BT HIE BT |

1612—219 5 i
() 5 ) p
; a’+2b A —a’
(3) p 4 p

R[St & It H I8 g &1 ST &1 ol | W41 oead
T W 8, HEAT o—

(1) Bk (2) D=

(3) IRIb= (4) Td=

I Sy +1+x—1=2 Bl x I dH BN
1 3

(1) 1 (2) 1
5

3) 1 @1

et TSt @ fadol 16 S T 12 I & I oI @l
o Tg g |

(1) 20 cm (2) 8 cm (1) 20 S (2) 8 I/
(3) 10 cm (4) 9 cm (3) 10 (4) 9 IF7
Space for Rough Work
PCP,siar  Closs:xas | IIT-JEE | NEET | OLYMPIADS 4
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PRINCE OLYMPIAD EXAMINATION
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23. Corresponding sides of two similar triangles are in the | 23, afe <1 vy FERSIl &1 T oY 2 : 3 & 3uTd 4

24.

25.

26.

27.

28.

ratio of 2 : 3. Ifthe arca of the small triangle is 48 sq.cm,
then the area of large triangle is:
(1) 230 sq.cm. (2) 106 sq.cm
(3) 107 sq.cm. (4) 108 sq.cm
22

The decimal expansion of = is

(1) Terminating

(2) Non-terminating and repeating

(3) Non-terminating and Non-repeating
(4) None of the above

Evaluate \/6./6:/6
7 9
(1) 4 @ ¢
(3) 63 (4) None of these

D and E are the midpoints of side AB and AC of a
triangle ABC respectively and BC =6 cm. If DE || BC ,
then the length (in cm) of DE is:

(H25 )3
35 46

[ . .
If 5 is a root of the quadratic equation

5
X —ZMX—Z: 0, then value of m is:

(12 2)-1

(3)-3 43

If the zeroes of the quadratic polynomial
ax® +bx+c =0 are equal, then

(1) c and b have opposite signs

(2) ¢ and a have opposite signs

(3) ¢ and b have same signs

(4) ¢ and a have same signs

24.

25.

26.

27.

28.

g 98I P &1 eTawher 48 a7 9 & 1 9 BArget @
g B |

(1) 230 o3 T+ (2) 106 a3
(3) 107 o T+ (4) 108 3 T+
22

=T — 1 SR [IR BIIT |
(1) 3id TTHea
(2) SIETHT Td GARTgIC

(3) ITAHT 3R SAYARIGHT
(4) SIWRIG H I Pl 6!

6 6\/6 BT HF ST BRI |

9

2 6§

3) @) 5T ¥ FIE A
ol gt @ goTsil AB @ AC & w2y fd=g) sHsl: D
9 E& 3R BC=6 99 € afs DE||BC © I DE &I

(D) 4

S BRI
(1)2.5 )3
35 46

afe % fereme wiebRor x2—2mx—%=0 & A & Y

m BT A9 BRI
H2 2)-1
(3)-3 43

afe fEend TR gy + px+c=0 P Aol GO T I
g9 3 I IR e ©

(1) ¢ 3R b & fag fomda &

(2) ¢ 3R a & fos faudia &

(3) ¢ 3R b & forg = &

(4) ¢ 3R a & forg w9H 8

Space for Rough Work

Class : X/Q-6
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29.

30.

31.

32.

33.

34.

35.

PRINCE OLYMPIAD EXAMINATION

B 2pcr N

If m is any positive integer then the last two digits in the
expression (81)™ (121)™-1 are -

(1) 02 2) 12

(3) 21 (4) 00

1
if ¥> —3x+1= 0, then the value of X’ +F is
(1) 87 (2) 123
(3) 135 (4) 201
The number of real solutions of the equation

|x|2—5|x|+6:O are

(1) 4 2 2
3) 3 @ 1
If x=24+/3 and xy=1 then-
x y o
\/§+\/;+\/§—\/; =
) 2 @) 3
3) 1 (4) None of these

Raj wanted to type the first 200 natural numbers, how
many times does he have to press the keys-

(1) 489 (2) 400

(3) 492 (4) 365

The simplified form of the expression given below is-
y4 it B Ji

x(x+y) x
y —xy+x’

(D1 20

3 -1 4 2

Find the four angles of a cyclic quadrilateral ABCD in
which ZA=2x-1), ZB=(y+5), LC =2y+15)
and /D =(4x-17).

(1) £A4=55°,/B=65°2C =125°,/D=115°
(2) £ZA=115°,/B=65°, /C =55°, /D =125°
(3) £A=55°,/B=115°, /C =65°, /D =125°
(4) £A=65°,/B=55°/C=115°, /D =125°

29.

30.

31.

32.

33.

34.

35.

MG m Bls TIHS Yolids & AT (81)™ (121)™-1 & 3rf~<TH
ST 3 BT |

(1) 02 @) 12
3) 21 (4) 00
s 1
afe 2 _3y41=0. 8 al X +F BT A BT |
(1) 87 2) 123
3) 135 (4) 201

FHERT |x|2—5|x|+6:O & e aTedfdes &eT 81T |

(1) 4 22
(3) 3 @1
e xy =243 Txy=18<h
x y o
\/E—i_\/;—i_\/i_\/;_ ........... Eﬁrqﬁml
D 2 2 B3
31 (4) 379 9 BIg 7T |

RIST YoIH 200 UTdhd ERIT &l TRY AT A1sdl 8, UHT
P @ [0 I Bl aR 924 qa ugil?

(1) 489 (2) 400
(3) 492 (4) 365
y4 e _Ji
X(X+y) X qgue T wRelled w9 SN |
y —xy+x’
) 1 2) 0
3) -1 4) 2

T Ah1d A ABCD & T aRT BIoT T A STl
DI R LA=(2x-1), ZB=(y+5),
ZC=Q2y+15) 3R LD =(4x-7) &

(1) £A=55°,/B=65°/C =125°, /D =115°
() ZA=115°, /B =65°/C =55°, /D =125°
() LA=55°,/B=115°/C =65°, /D =125°
(4) /A=65°,/B=55°,/C =115°, /D =125°

Space for Rough Work

PCP, Sikar

Class : X/Q-6 I
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T
In case of a convex lens, what is the minimum distance | 36. U & & AFC H, [ o] 3R IHP! AI(des Bid
& dIa gAdH U FAT 87

between an object and its real image? I
(1) 2.5 times of focal length | (1) BIdhd ddTg BT 25 AT
(2) 2 times of focal length : (2) BIdhe ddTg BT 2 AT
(3) 4 times of focal length | (3) ik ddIS BT 4 AT
I
I
I

(4) equal to focal length (4) B ddig & aER
37. The centre of the reflecting surface of a spherical mirror | 37. TATHER YT P TGt HAB &1 &G BIdT &

1s-

(1) Centre of curvature (2) Pole (1) Tshal D5 (2) ga
(3) Focal length (4) aperture (3) Blhd TN 4) o5

(1) 3rader gUvil & fory wifdes S<ier <dor & forg =it
(2) A U & feTy Sifch srader gUvll & forg =i

I
I
| -
38. The relation R =2 f is valid | 38. R=2f & Hae o1 8
(1) for concave mirrors but not for convex mirrors I

(2) for convex mirrors but not for concave mirrors

40. In the process of digestion, the function of the large | 40. UTe &I Hfshar H g5 31d dT B B

(3) neither for concave mirrors nor for convex mirror | (3) I I 31adel gUvl & forg 3iR 7 8 e guur & forg
(4) for both concave and convex mirror | (4) 3radet 3R ST <1 Ul & forw
39.  constitutes the liquid part of the blood. | 39.  3dd &I d¥al 9RT §41d1 27
(1) Platelets (2) Plasma | (1) <icdew ) T
(3) RBCs (4) WBCs : (3) T X PivTen] (4) Taq ad BIOTHT
I

intestine 1s-

(1) FfST 3R uT ®I Jraenfd o
(2) WIS & HUN BT AT BT &
(3) WIS I AT 111

(4) Breaks down starchy substances 4) WI?IW gererf & dredT &

I
(1) Absorb minerals and water I
I
I
I
I
41. The part of the human alimentary canal where no enzyme | 41. 9 JAT8R T &I T8 AN GI81 blg VSIS ST T8
I
I
I
I

(2) Absorbs food particles
(3) Make food acidic

secretion takes place is BIT 8—
(1) Mouth (2) Oecsophagus 1) ﬁ‘s’ (2) UTETCAT
(3) Stomach (4) Ileum (3) 3™y 4) sferaw

42. Oxygen-rich blood from the lungs comes to which | 42. Bl ¥ AT Yo Iad gad & b el H ATl 6—
chamber of the heart I
(1) Right atrium (2) Left atrium | (1) <rai sifere DEIRIEIRES

(3) Both (1) and (2) (4) None of the above : (3) (1) 3iR (2) <=1 (4) SRIH # & BIg A8l

Space for Rough Work

PCP sikar Class : X/Q-6 I IIT-JEE | NEET | OLYMPIADS 7
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43.

44.

45.

46.
47.

48.

49.

PRINCE OLYMPIAD EXAMINATION

The enzyme that is responsible for break down of starch

into simple sugar in human mouth is

(1) Amylase (2) Pepsin

(3) Lipase (4) Trypsin

The mode of nutrition in fungi is -

(1) Only saprotrophic (2) Holozoic

(3) both (1) and (2) (4) None of the above

I

I

I

I

I

I

I

Which of the following is the correct sequence of body |
parts in the human alimentary canal? |
(1) Mouth — stomach —> small intestine —> large I
intestine — oesophagus |

(2) Mouth — oesophagus — stomach — small |
intestine —> large intestine |

(3) Mouth — stomach —» oesophagus — small l
intestine —> large intestine I

(4) Mouth — oesophagus — stomach — large |
intestine —> small intestine |
Which of the following is not a component of phloem? |
(1) Tracheids (2) Phloem fibres :
(3) Sieve tube (4) Phloem parenchyma |
Which of the following juice is secreted by pancreas? |
(1) Trypsin (2) Pepsin |
(3) Bile juice (4) Both (1) and (2) l
In a chemical equation, the number written in front of a :
chemical formula represents: |
(1) Molar mass (2) Molecular mass |
(3) Number of molecules (4) None of these |
Dilute solution of ammonium hydroxide is added to an I
aqueous solution of ferrous sulphate. Ferrous hydroxide |
is formed. What is the type of this reaction? |
(1) Displacement reaction |
(2) double displacement reaction I
(3) oxidation reaction |
(4) redox reaction |

I =prcr i

43. A9 48 H W BI AR DT 4 dled & AT fTHaR

[GUIEL I

(1) rgerSt (2) ufeas

(3) orgusT (4) fefoa

. &a& | g a1 Ay & —
(1) dHael Jaarmy (2) HI gIoldr
(3) (1) 3R (2) T (4) SR H F BIg T8l

fermforRad # & I A1 4199 3MER AT # IR & 31
HI FET A 87

(1) & > UT - BICT 371d —> TSI 3ATd —> UTETAT

(2) G — UTETe —> U — BICT 37id —> Tl 37d

(3) 48— UT — UTATell — BICT 3Ad —> TSI 37T

(4) G — YTETe — U — I 31T — BIT 37d

. for=foRaa & 9 o 1 wdivd &1 gcad 81 87

(1) TH HIfrHT (2) B Wic
(3) TAT Afetadr (4) FIUH R=pIZAT
. F=forRad % & &9 1 <9 IR g1 Efdd i 27
(1) fefeas (2) ufta=
(3) U <= 4) TF (1) 3R (2)
. 16 R R ¥, RERIe 93 @ A o
T <M &
(1) T TTH (2) 3MTUrfdd oA
(3) SR T AT (4) T W PR T

. MY BESiadss & Uddl dld B Johe &

STefla giel # AT SITar 8 | B9 SISgaarss aedl
2| I8 rfaforar fry mpR @ 87

(1) fa=ermg=r srfafdsar

(2) < faxemu= srfafhan

(3) SATRABRT AHTHAT

(4) v=ta srfafosar

Space for Rough Work

PCPer

Class : X/Q-6 I
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PRINCE OLYMPIAD EXAMINATION

B 2pcr N

50. A solution of substance X' is used for white washing. I 50. A%l & folv ygml X' & 9id &7 SUART fdhar ST & |

Name of the substance X is
(1) calcium oxide (2) quick lime
(3) both (1) and (2) (4) None of these

geref X &1 99 §
(1) DfceH IffaSS

(3) I (1) 3R (2)

(2) 19T g=1m g T
(4) 399 9 BI TE

I
I
51. In which reaction the addition and removal of oxygen : 51. Td9 arffshan # SIS BT ST 8iR BT Udh A1
take place simultaneously? | BIAT 57
(1) Oxidation reaction | (1) ATRABROT 3rffdhar
(2) Reduction reactions | (2) e srfAfehary
(3) Redox reactions | (3) YSfad srfafssan
(4) Precipitation reactions | (4) 3raeTaer 3rfafhan
52. What is the colour of the residue left in the test tube | 52. B Hethe & erfd srde & arQ CECTYd ¥ I 3TRY
after thermal decomposition of ferrous sulphate? I BT [T T &7
(1) Green (2) Black () 3 (2) dredl
(3) Brownish black (4) White I (3) I Plell (4) I%g
53. The mirror having reflection surface curved outward | 53. U fOIah] WRIAdd g d18% &I MR ¥R Bl ©
(1) plane mirror (2) concave mirror | (1) FAdS U (2) 3radd Ul
(3) convex mirror (4) cylindrical mirror | (3) STt gYUr (4) IATHR YT
54. For a concave mirror of focal length 10 cm to forms | 54. 1094 ®IHH G dTel 3fadel YT & oI IR[AT
twice magnified image, distance of object from its pole I JMafd Bfg g9 & Y, o] &1 9@ ga I U 8—
is/are
(1) -5 cm @) -15 em | (1) -5 o ) —15 <Y
(3)-10 cm (4) Both (1) and (2) | (3) —10 9 4) TF (1) 3R (2)
55. Magnification produced by a rear view mirror fitted in : 55. arE-l # o ReR g R g1 S~ MR-
vehicles |
(1) is less than one | (1) U6 9 PA B
(2) is more than one | () Tdh ¥ 31WF T
(3) is equal to one | (3) Th & &R B
(4) can be more or less than one depending upon the | (4) A g &1 Regfa @ IR U U 3 3rfeIh AT HH
position of the object in front of it | Bl Fhdl ©
56. Give the ratio in which hydrogen and oxygen are present l 56. 9T ¥ AT & ATAR BIZSIo AR ATaAST BT
in water by volume | S EEIRECIIEN
(H1:2 1:1 | (1H1:2 2)1:1
3)2:1 4)1:8 | 3)2:1 @ 1:8
57. A man used a convex lens of focal length of 20 cm in his | 57. U JMMSHT o 39+ I H 20 AT Bldbd odTs bl 3
specs, the power of lens is - l o ST foha, of < &1 emar § —
(1) +2D (2) -2D I (1) +2D (2) -2D
(3) +5D (4) -5D | (3) +3D (4) -5D
Space for Rough Work
PCP sikar Class : X/Q-6 I IT-JEE | NEET | OLYMPIADS 9
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58.

59.

60.

61.

62.

63.

64.

PRINCE OLYMPIAD EXAMINATION

B 2pcr N

Which of the following mirrors is used by a dentist to
examine the patient's teeth?

(1) Convex mirror (2) Plane mirror
(4) All of the above

Which of the following gases can be used for packaging

(3) Concave mirror

(1) Carbondioxide or oxygen

(2) Nitrogen or oxygen

(3) Carbondioxide or helium

(4) Helium or nitrogen

The chemical reaction between copper and oxygen can
be regard as -

(1) Combination reaction

(2) Decomposition reaction

(3) Displacement reaction

(4) Double displacement Reaction

NaCl(aq) + AgNO,(aq) > AgCls + NaNO,(aq)
Above reaction is a -

(1) Reversible reaction

(2) Decomposition reaction

(3) Addition reaction

(4) Double displacement reaction

A substance which oxidises itself and reduces other is -

(1) An Oxidising Agent

(2) A Reducing Agent

(3) A Dehydrating Agent

(4) A Catalyst

In a chemical reaction, the substances present before
the reaction starts are called

(1) Reactants (2) Products

(3) Catalysts (4) Chemicals

Photosynthesis occurs in which cellular organelle?
(1) Mitochondria (2) Ribosome
(3) Golgi body (4) Chloroplast

| 58, <rft & aiai @ g @ fore < Rifbae FrefrRad

5
6
6

I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
l 6
I

I

61.

63.

9
0
1
2.
3
4

3 b o BT STIRT BT 27
(1) ST gyor (2) WS <o
(3) 3fadel gyoT (4) SRR Tl

. f=fefRaa & & b %9 &1 SuanT Yervr & fore fhar

ST AT 87

O EEEERIEREERIEIERISE
(2) TSSIo AT 3ifie

(3) FETSIRITRIES AT Blfetad
@) Siforam a1 AzgeH

. O 3R ATRIoH & o IR ufafshar & g9

ThR HIAT O Ahdl & —

(1) o ufafesar

(2) 3mae ufafshar

(3) foreru= ufafshan

(4) <5 foremu=r ufafan

NaCl(aq) + AgNO,(aq) — AgCls + NaNO,(aq)) IR
fefshar v & —

(1) wfcrectt srfafaan

(2) 3TEceH ATHAT

(3) GaoId srfafoar

(4) < faxemu= srfafhan

I8 u<ref Sl T3 SiTaRTNHROT FHRAT © TAT IR BT 3R
FHIAT S —

(1) U 3ifrfieeor Toie @

(2) T IYARIH Tolc &

(3) U ATl Toie B

(4) UF SORF B

oy wramaferes arfafehan 9 srfiforar Ut 819 3 uge
SufRerd geref wEdTd §

(1) 3IMPREB (2) ST
(3) SIR® (4) TERHA

. UTe ATAYYT fhey BIRIBiT # Brar 872
(1) Argepifgar () VrZErEH
(3) Tifeol dfer (4) FARIARE

Space for Rough Work
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65.
66.
67.
68.
69.

70.

PRINCE OLYMPIAD EXAMINATION I 9 PCP ||

In which organ, bile juice formation take place? | 65.
(1) Liver (2) Gallbladder I
(3) Pancreas (4) Stomach |
Where, glycolysis occurs in cell? | 66.
(1) In Mitochondria (2) In Chloroplast I
(3) In Cytoplasm (4) In Nucleus |
Which gas is used in acrobic respiration ? | 67.
(1) Oxygen (2) Carbon dioxide :
(3) Nitrogen (4) Methane |
Which group of organisms are heterotrophic? | 68
(1) Algae (2) Fungi I
(3) Bryophyta (4) cyanobacteria |
Which is called currency of energy? I 69.
(1) DNA (2) RNA |
(3) ATP (4) NAD |
Focal length of a lens is 50 cm. In dioptre power of lens | 70.
will be- I
(1)0.02 )2 |
3)0.2 45 |

o g &1 SEior foe o & Biar 87
(1) apd (2) foarer
(3) TRy (4) 3T

BIfSTBT § TATSHIATSRIT H8l 8Idl &7
(1) AIEciplf~gar # (2) FARIARE H
(3) WTgCIwITSH | (4) ~gfaeras #

Wifdd saa= § fba T &1 SUIRT fhar wirar 87

OEIESISE (2) ®E STRifIES
(3) SgIo 4) W=
. Sial &1 &9 A1 g fawn 87
(1) gt Q) FaH
(3) FrATHISCS (4) wTEAIIaEIRY
Sl B ggT 1B FHe1 S & 2
(1) DNA (2) RNA
(3) ATP (4) NAD

Th oI P Blbd @dlg 50 I & | SR § o &l
w1fp BT —

(1)0.02 ()2

(3)0.2 45

Space for Rough Work
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. Who among the following formed the secret society called | 71.

72.

73.

74.

75.

76.

"Young Italy"?

(1) Otto Von Bismarck

(2) Giuseppe Mazzini

(3) Giuseppe Garibaldi

(4) Johann Gottfried Herder

Who, among the following, hosted the Congress at Vienna
in 18157

(1) King of the Netherlands

(2) Giuseppe Mazzini

(3) Duke Metternich

(4) Otto Von Bismarck

The resolution of Purna Swaraj was adopted at which
congress session?

(1) Bombay

(2) Lahore

(3) Karachi

(4) Madras

Which one is considered as Primary Producers in an
ecosystem?

(1) Forests (2) Animals

(3) Sun (4) Humans

In which of the following states is Periyar Tiger Reserve
located?

(1) Kerala (2) Chhattisgarh

(3) Tamil Nadu (4) West Bengal
Geothermal energy in Puga Valley and Parvati Valley is
an example of .............

(1) Stock resource

(2) Reserve resource

(3) Developed resource

(4) Potential resource

72.

73.

74.

75.

76.

FrforRad | 9 fhe =1 I3 geell’ M o |ffd &1
RATYAT P2

(1) 3ner af= faw e

(2) o Hoi

(3) o Harest

(4) SITB TCWIES BN

1815 ¥ fITAT ¥ 83 d0& &I Aol Ffrf
fes @r?

(1) -e=cls & <o A

(2) o9 #oien 3

(3) SYF AT

(4) oner afF fowre A

FHIUE B [ ST H Yof RISl & UATd Bl YR
TT?

(1) 913 AR

(2) TER 3T

(3) BT 3rferer

(4) wET ST

frferRaa § 9 fea & wiRRerfaa 93 & urifas
STGH FHST STl &7

(1) SHTEl Bl (2) USRAT B

(3) i &I (4) Aal B

IR gra smaRey f=ferRad # 9 fi =g # Rera
g7

(1) e H (2) BdTS #

(3) TR H (4) Uf¥ert §7ITer §

QT 3R qrdell wfedt | arg S arell g—ardi S .
& I &

(1) ¥SN e

(2) IIRETT HarEH

(3) fawpfaa adrH

(4) HwIfda GamreH

SRR AR

Space for Rough Work
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77. Which one of the following countries adopted

PRINCE OLYMPIAD EXAMINATION I 9 PCP ||

majoritarianism in their Constitution?

(1) Belgium
(3) Germany

78. How many languages are included in the Eighth Schedule | 78.

(2) India
(4) Sri Lanka

of the Indian Constitution?

()15 (2)22
(3)25 421
79. are the activities which are undertaken by

people with the object of earning money.

(1) Organised activities

(2) Unorganised activities

(3) Economic activities

(4) Noneconomic activitics

80. Development of an individual refers to

(1) mental development

(2) physical development

(3) spiritual development

(4) overall development

| 77.

fr=tferiRad o O fbd <91 & Hige 4§ agEeIdharg ol
MO TT?

(1) dfesrs & (2) Rd &

(3) Al & 4) ANedr &

WIRATT HITET &1 MSdl STl | fdha-T | e
8?

()15 )22

(3) 25 4)21

g ATt § I AT U1 BH & SGaed W Y PR b |

(1) wrfed foramd

(2) errfea forarg

(3) anffe fpamd

@) IR e fpamd

fd T fadr &1 Had ... N
(1) fearft faera

(2) IRIR® faPHrT

(3) 3T A fddbTa

(4) rqet fasre

Space for Rough Work
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(0. Nos. 81 to 84) Select the options with errors in | 87. The King said, “My force will protect the kingdom.”

the following sentences, if there is no error then your |

answer is option (4)

81.

82.

83.

84.

85.

86.

I
I
I
I
I
I
I
I
I
I
I
I
I
I
expresses the given sentence in Indirect Speech. I
I
I
I
I
ql
I
I
I
I
I
I
I
I
I

(1) Ten miles are (2) along distance

(4) No error

(2) attended the meeting
(4) No error

(2) or he

(4) No error

(3) to cover on foot
(1) Many a men
(3) lastnight

(1) Either you

(3) are happy

(1) Patience as well as perseverance

(2) are necessary

(3) for success

(4) No error

(Q. Nos. 85 to 87) Select the option which best

He said,

today?”

(1) He asked Ravi why did he sound so depressed that
day.

“Ravi, why are you sounding so depressed

(2) He asked Ravi why he was sounding so depressed
that day.

(3) He told Ravi why he sounded so depressed today.

(4) He asked Ravi that why was he sounding so
depressed that day.

He asked me, “What time will the Sun set tomorrow?”

(1) He asked me what time does the Sun set the next
day.

(2) He asked me what time the Sun would set tomorrow. |

(3) He asked me what time the Sun would set the next |
day.

(4) He asked me what time would the Sun set the next I
day. |

(1) The king said that his force would protect the
kingdom.
(2) The king said that the King’s force will protect the
kingdom.
(3) The king ordered that our force should protect the
kingdom.
(4) The king commanded that his force will be protected
the kingdom.
(0. Nos. 88 to 90)Choose the options which best

replace the underlined phrases.

88.

89.

90.

He wrote a short story when he was at Calcutta.
(1) writes a

(2) had written a

(3) write a

(4) No improvement required

Every Sunday he is going to Church.

(1) he goes

(2) did not went

(3) don't go

(4) No improvement required

Raghu shall reach here tomorrow morning.
(1) shall be reaching

(2) will reach

(3) have been reached

(4) No improvement required

Space for Rough Work
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92.

93.

94.

95.

Choose one word out of the given alternatives, which cannot | 91. fou v It 4 9 U e ﬁ ST CONSULTATION

be formed from the letters of the word CONSULTATION | ITeg & 3R | T8 a7 S Febell

(1) CONSTANT (2) NATION | (1) CONSTANT (2) NATION

(3) SALUTE (4) STATION (3) SALUTE (4) STATION

In a certain language TWENTY is written as 863985 | 92. Ud fAf¥ed AT § TWENTY 1 863985 @& U # forar
and ELEVEN is written as 323039. How is TWELVE | STl & 3R ELEVEN @l 323039 & w4 # ferar Siran
written in that code ? 2| 39 Pl § TWELVE &1 &4 forar rar &7

(1) 863230 (2) 863303 (1) 863230 (2) 863303

(3) 836203 (4) 863203 (3) 836203 (4) 863203

Mr. X walked 75 m towards North. Then he turned to
left and walked 25 m. He turned left again and walked
80 m. Then he turned to right at an angle of 45° In

93. MM X STR BI 3R 75 Wex FlT | fhR T8 a18 3R gl
3R 25 Hex =rell | I8 MR aril 3R g 3fiR 80 Hiev
FAT | Y a8 45° & BIvT W IRIT AR ST | (T I8

which direction was he moving finally ? fs faem 4 9 a1 a1
(1) South-East (2) North-East (1) <Rror—yg (2) STR—gd
(3) South-West (4) North-West (3) ROT—yf¥eTHm (4) STR—Y¥H

Find the wrong number in the series —
2880,480,92,24, 8,4, 4

94, FTAT H TTd AT Hd DITORI—
2880, 480,92, 24. 8. 4. 4

(1)480 (2) 92 (1) 480 (2) 92
38 44 (3)38 (4) 4
2] 2]
[5]1 [5]1
4 4
6]3] 6]3]
The number of a possible combination is: AT G &l T &

(A) (B)
© (D)

(1) Only A (2) Only B
(3) Only C (4) Only D

(A) ‘ (B)
(C) (D) hoﬂ

(1) ®dat A ) @9 B

I
I
I
I
I
I
I
I
I
I
I
I
I
I
Observe the open die : 95, agﬁ gy BT frveTor
I
I
I
I
I
I
I
I
I
I
I
I
I
I
| (3) dad C (4) daa D

Space for Rough Work
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96. Which of the following is best represented by the given I 96. fr=ferRad # & B9 AT AU Y 3G gRT HaH 31DT
<IfT T 8?

/

(1) 911a, |95, 9dd

diagram ?

/

(1) Human, Sea,Mountain

(2) Domestic, Dog, Buffalo (2) I, FT, HE

(3) Doctor, Nurse, Patient (3) Sfdey, T4, AT

(4) None of these (4) 79 9| P TE

Energy:Joule ol el

(1) Axe: Grind (2) Ammeter : Current (1) GBIl : Ure=T (2) TIeR : g1

(3) ofdd : TURR (4) ufcRIE : 314
98. IfT 246=8, 624=0 3iX 327=6 I 423=7
(1) 10 )9
(3) 8 4) 1
99, FH=TTTRIT SRIdT 3 UeT o (?) & AT U= T 3RATT?

(3) Power : Ampere (4) Resistance : Ohm
98. If246=8, 624=0and 327=6 then 423=7
(110 2)9
3)8 @1
99. What will come in place of question mark (?) in the

I
I
I
I
I
I
I
I
I
97. Choose the analogous pair similar to given pair - I 97. fau I g™ & A 3T JH ﬁ -
I
I
I
I
I
I
I
I

following series ?

P3C, RSE, T8I, VI2L, ....? P3C, RSE, T8I, VI2L, ....?

(1)X17M 2)Y170 (1) X17M 2)Y170
3)Y17™M 4) X170 3)Y1T™M 4) X170

100. Study the diagram and identify the people who can speak | 100.3TRE BT AT B R I ARN BT UgA B Sl
only one language. BHIA T ATV dieT Ahd § |

Tamil

(1) L+M+0 () K+J+1
(3) K @1

Tamil

(1) L+M+0 () K+J+1
(3) K @1

I
I
I
I
I
I
I
I
L | L
English A Hindi | English A Hindi
o ; o
I
I
I
!

Space for Rough Work
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